y =Y, sin(kx —wt)

v=+Bl/p

s =5, cos(kx—wt)

__P
47r?

P — l a)ZVyZ

avg 2/’1 m

AP = AP, sin(kx — wt)

AP, = pvwS,,

I =1p(a)5m)zv
2

B =10 IogL v 1, =10"W /m?

|

0

f_ (vivD]
VFV,
S G
=| 2y_coS— |sin| kx — ot ——
(23,082 i -t

A
AL =—
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AL=mA, m=0,1,2,3, .......

AL=(m+%)X, m=0,1,2,3, ...

y = 2y, (sinkx) (cos wt)

f =Y n-123.
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fn = T I’]=1,3,5
4L
AL AV
TLAT TV AT
PV =nRT = NKkT
W = J.P dv
W =nRT In (V;/V,)
Ve = SR Lo =34
M 2 2

Q=mcAT , Q=mL

=Q-W, AE,,= nCAT
Q=nC,AT , Q=nC,AT
Cp—Csz, y= Cp/Cv
P _Q _,aTu-Te

cond — T L

PV’ =constant , TV’*= constant
T =%TC +32, T =T, +273
W=0Q-Q., s=V_3 Q
Qy Qy
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r r,
- N g Y N
ox oy o
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_ 2mg,L _ Areyab
In(b/a)’ b-a
U = %CVZ' CK = KCair
I = Q , 1=JA, J=ney,
dt
V L
R=—=p—, J= cE=E/
Tty o P
p=py I+ a(T-T))] . P=1V

q(t)=Ce[l-e "], it) :fe—t/Rc

R

t —I/RC
q(t)=a.e mC

' (t) — q_oe—t/RC

F—q(vxB), F=i(LxB)
T=1xB, p=NiA
U=-uB
4B = o |dss>< r
4 r
(j)@ a5 = Hy ienc
B= IUOI (01 _ /’lOI
4 7R 2rr
AN NN Mol
F = 0 a ] B: 0
@ 2xd 27R?
B, =upni
@, =[B-dA
do
Eing =~ dtB’ Eng = BLV

€, = 8.85 x 102 C?/N.m?

k = 9.00 x 10° N.m%C?
ge=—e=-1.60x10"C
gp=+e=+1.60x10"C
me=9.11 x 103 kg

m, = 1.67 x 10%' kg

p = micro = 10°°, n =nano =10~
p = pico = 10

Ho = 471 x 107 Wb/A. m

kg = 1.38 x 102 J/K

Na = 6.02 x 10%molecules/mole
1 atm = 1.01 x 10° N/m?

R =8.31 J/mol. K

g=9.8m/s

1L=10%m?

For water:

Lr =333 kJ/kg
Ly = 2256 kJ/kg
¢ =4190 J/kg.K

n+l

jx“dx: X
n+1
vV =V, + at

vi= v+ 2a(x-X,)
AK =-AU
AU, = mgAy




